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fhdað; W;a;r 
 (AA11) 

 

uQ,H .sKqïlrK uQ,slhka (FAB) 
 

YS% ,xld .KldêlrK Ys,amSh wdh;kh 
fkd' 540" mQcH uqre;af;Ügqfõ wdkkao kdysñ udj;" 

kdrdfyakamsg" fld<U 05' 

 

ÿrl:k : 011-2-559 669 

 

fuh wOHdmk yd mqyqKq lsÍï wxYfha m%ldYkhls' 



 

       uQ,H .sKqïlrK uQ,slhka 

 
AA1/FAB 
 

 
 
 
 
 

 

   
 
 
 

 

jdia;úl mÍlaIK m%Yak (OTQs) 

ish¨u m%Yakj,g W;a;r wfmalaIs;h' 
(uq¿ ,l=Kq 40) 
 

 

01 jk m%Yakh i|yd fhdað; W;a;r: 

  
1.1 (3) jHdmdrfha uQ,H ;;a;ajh wjfndaO lr .ekSuhs'  

1.2 (3) yrm; hs'  

1.3 (2) wLKav meje;au ixl,amh hs'  

1.4 (2) wjidk Y=oaO j;alï-wdrïNl Y=oaO j;alï +.eks,s – w;sf¾l m%d.aOkh  

1.5 (3) j;alï jeäùu iy ialkaOh jeäùu  

1.6 (2) re. 617,000/-  

 (re.) 

m%o¾Ykd.drfha bÈlsÍï msßjeh      525,000  

jdhqiólrKfha msßjeh        92,000  

      617,000  

 

1.7 (1) th uQ,dY% ,shú,sj, wvx.= o;a; idrdxY.; lrhs'  

1.8 (4) úl=Kqï .sKqu hs' 
  

1.9 fmdÿ c¾k,fha igyka lrk .kqfokq j¾.  

1. uQ,H ;;a;aj m%ldYh i|yd jQ wdrïNl fYaI  

2. ia:djr j;alï w;am;a lr .ekSu  

3. ia:djr j;alï úlsKSu  

4. jerÈ ksjerÈ lsÍï  

5. j¾I wjidk .e<ms,s 
 

1.10   .sKqïlrK ixl,am    

(a) ix.;;d ixl,amh $ h:dfhda.H;dj (Consistency Concept) 

  (b) uQ,H ñkqï ixl,amh (Monetory measurement concept) 

(c) jHdmdr tall $ wia;s;aj ixl,amh (Legal entity Concept ) 

 

A fldgi 
 

YS% ,xld .KldêlrK Ys,amSh wdh;kh 

wOHdmk yd mqyqKq lsÍï wxYh 

 

AA1 úNd.h - 2019 cQ,s 
(AA 11) uQ,H .sKqïlrK uQ,slhka 

 

fhdað; W;a;r 
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1.11   we,aula olajk md¾Yajhka  
Khysñhka" .kqfokqlrejka" rch" ysñlrejka" fiajlhka" l<ukdlrKh" wdfhdaclhka  

1.12    

j;alï               =  m%d.aOkh + j.lSï  = j;alï – m%d.aOkh 

          j.lSï     =  re.950,000- 575,000   = re. 375,000/- 

 

 

 

 

 

 

 

1.13  

hka;% msßjeh                     
             

750,000  

iúlsÍfï msßjeh                         125,000  

hka;%fha uq¿ msßjeh       
                  

875,000  

 

jd¾Isl laIh  =  re. 875,000 x 20%  = 175,000/- 

 

1.14   fmdÿ .sKqïlrK uDÿldx. meflac   

Account Pro 

MYOB  

ACCPAC 

Sage / Peach Three 

Tally  

 

1.15  

     

(a) úÿ,sh úhoï .sKqu                 yr  82,000  

  f.úh hq;= úÿ,sh .sKqu                ner  82,000 

     

(b) .ekqï .sKqu                        yr 25,000  

  fjf<| Khysñfhda                ner  25,000 

     

(c) uqo,a .sKqu                          yr   

  fmd,S wdodhï .sKqu               ner 12,000  

    12,000 
 

         (uq¿ ,l=Kq 40)  

 

 
 

 

ysñlï  re' 

2018 wfm%a,a 01 Èkg m%d.aOkh          400,000  

y÷kajd ÿka w;sf¾l m%d.aOkh          100,000  

j¾Ih i|yd ,dNh          150,000  

.eks,s  (75,000) 

          575,000  
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m%Yak y;r ^04& gu W;a;r wfmalaIs;h' 
(uq¿ ,l=Kq 40) 

 

 

02 jk m%Yakh i|yd fhdað; W;a;r: 

 
mßÉfÊoh 06 - oaú;aj igyka l%uh   

 

úch ydâfjhd¾ 
2019 ud¾;= 31 Èkg fYaI msßlaiqu 

úia;rh   yr ^re'& ner ^re& 
fudag¾ f,dßh               750,000   

uqo,a (fmrjev-01)               792,000   

úl=Kqï (fmrjev-04)   

            

4,075,000  

nexl= Kh   

                      

500,000  

jegqma iy fõ;k               600,000   

úÿ,sh (fmrjev-05)                 86,000   

.eks,s                210,000   

Kh fmd,sh (fmrjev-06)                 7,500   

f.úh hq;= Kh fmd,sh   7,500 

f.úh hq;= úÿ,sh   

                          

18,000  

.ekqï (fmrjev-03)           3,505,000   

m%d.aOkh   

                    

1,400,000  

fjf<| Kh.e;s  275,000  

fjf<| Khysñ   225,000 

laIh (fmrjev-07)               187,500   

iuqÉÑ; laIh (fmrjev-07)   

                       

187,500  

           6,413,000  

                    

6,413,000  
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fmrjev( 
 

fmrjev -01 
uqo,a .sKqu 

m%d.aOkh              650,000  jegqma yd fõ;k       600,000  

úl=Kqï          2,500,000  úÿ,sh          68,000  

fjf<| Kh.e;s          1,300,000  fjf<| Khysñ     3,280,000  

nexl= Kh              500,000  .eks,s        210,000  

   fYaIh m$f.       792,000  

          4,950,000      4,950,000  

    

 

fmrjev -02  
Kh.e;s md,k .sKqu 

úl=Kqï          1,575,000  uqo,a    1,300,000  

    fYaIh m$f.       275,000  

          1,575,000      1,575,000  

    

 

fmrjev -03  
Khysñ md,k .sKqu 

uqo,a 
            

3,280,000   .ekqï                3 ,505,000  

fYaIh m$f.       225,000   fYaIh m$f.       275,000  

          3,505,000      3,505,000 

    

 

fmrjev -04  
úl=Kqï .sKqu 

,dNd,dN .sKqu       4,075,000 uqo,a    2,500,000  

   

Kh.e;sfhda 
(fmrjev-02)    1,575,000  

          4,075,000     4,075,000 

    

 

fmrjev -05  
úÿ,sh .sKqu 

uqo,a                68,000   ,dNd,dN .sKqu    86,000  

f.úh hq;= úhoï                18,000    

 86,000     86,000 

 

fmrjev -06 

Kh fmd,sh   = re.500,000 x 18% x 1/12   = re.     7,500/- 
 

 

fmrjev -07 

laIh $ iuqÉÑ; laIh  = re.750,000 x 25%   = re. 187,500/- 

(,l=Kq 10) 
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03 jk m%Yakh i|yd fhdað; W;a;r 
 

mßÉfÊoh 09 - ksIamdok .sKqï 

 

iS$i KP iud.u 

2019 ud¾;= 31 Èfkka wjika j¾Ih i|yd 

ksIamdok .sKqu 

                 (re. ’000)  
Rcq wuqøjH msßjeh     
wdrïNl wuqøjH f;d.h      1,200   
.ekqï  1,925  3,125 

wvq l<d : wjidk wuqøjH f;d.    (1,100) 
mßfNdackh l< wuqøjH f;d.    2,025 
Rcq msßjeh    

1,765 Rcq Y%u msßjeh   

   3,790 
fjk;a Rcq úhoï     
wdrïNl fkdksñ  885   
wjidk fkdksñ  (975)  (90) 
m%d:ñl msßjeh    3,700 

     
lïy,a fmdÿld¾h msßjeh     
lïy,a hka;% kv;a;=  335   
laIh - lïy,a hka;%  1,100   

laIh - f.dvke.s,s (fmrjev)  1,000   
lïy,a l<ukdlref.a jegqm  625   

úÿ,sh (fmrjev) 

c,h (fmrjev) 

 600 

294 

  

3,954 
uq¿ ksIamdok msßjeh    7,654 

     

ksIamdok ,dN @ 10%    765 
fjf<| wxYhg udre l< jákdlu    8,419 

     
 

 

     (,l=Kq 10) 

 

 
fmrjev 
 uq¿ msßjeh lïy, ld¾hd,h 

laIh - f.dvke.s,s 1,250 80% 1,000 20% 250 
úÿ,sh 750 80% 600 20% 150 
c,h 420 70% 294 30% 126 
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04 jk m%Yakh i|yd fhdað; W;a;r 
 

mßÉfÊoh 07 - .sKqïlrK jerÈ iy wúksYaÑ; .sKqu 

(a) 
c¾k,a igyka 

 laIh   yr   ner  

(1) mß.Kl WmlrK .sKqu yr  85,000   

      mß.Kl kv;a;= .sKqu ner   85,000 

 ^ld¾hd,fha Ndú;hg ñ,g .;a mß.Klhla" 
mß.Kl kv;a;= .sKqug yr lr ;sîu ksjerÈ 
lsÍu&  

    

      

(2) wúksYaÑ; .sKqu yr  58,500   

      úl=Kqï .sKqu ner   58,500 

 ^re' 65"000$- l úl=Kqï re' 65"000$- f,i igyka 
lsÍu ksjerÈ lsÍu& 

    

      

(3) wúksYaÑ; .sKqu yr  56,400   

      fmd,S úhoï .sKqu ner   28,200 

      fmd,S wdodhï .sKqu ner   28,200 

 ^re' 28"200$- fmd,S wdodhu" fmd,S f.ùula f,i 
igyka lsÍu ksjerÈ lsÍu& 

    

      

(4) .ekqï .sKqu yr  18,000   

      fjf<| Khysñ .sKqu ner   18,000 

 ^re' 275"000$- l Khg .ekqï re' 257"000$- la 
f,i igyka lsÍu ksjerÈ lsÍu& 

    

      

(5) laIh .sKqu yr  228,000   

      iuqÉÑ; laIh .sKqu ner   228,000 

 ^ld¾hd, WmlrK u; laIh re' 228"000$- la .sKqï 
.; lsÍu& 

    

   
           (,l=Kq 05) 

 

(b)  
wúksYaÑ; .sKqu 

úl=Kqï  58,500 fYAIh b$f.  114,900 

fmd,S f.ùu  28,200    

fmd,S wdodhu  28,200    

  114,900   114,900 

         

   (,l=Kq 02) 
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(c) 
.<mk ,o Y=oaO ,dNh 

    re' 
flgqïm;a uQ,H m%ldYk wkqj Y=oaO ,dNh    448,000 
tl;= l<d(     

mß.Kl  kv;a;= .sKqu  85,000   
úl=Kqï  58,500   
fmd,S f.ùï  28,200   
fmd,S wdodhï  28,200  199,900 

wvq l<d(     
fjf<| Khysñ  18,000   
laIh  228,000  (246,000) 

.<mk ,o ,dNh    401,900 

         (,l=Kq 03) 
                                                                                                                                               (uq¿ ,l=Kq 10) 

05 jk m%Yakh i|yd fhdað; W;a;r 
 

(A)  
mßÉfÊoh 03 - .sKqïlrK iólrKh iy ,dN iólrKh 

 

  ia:djr 
j;alï 

+ f;d. + Kh.e;sfhda + uqo,a = ysñlu  + j.lSï 

1. 02.01.2019  + 723,000     =  + 723,000 
2. 05.01.2019  - 50,000     = - 50,000   
3. 10.01.2019  - 575,000 + 600,000   = +25,000   
4. 15.01.2019    - 550,000 + 550,000 =    
5. 28.01.2019      - 12,000 = - 18,000 + 6,000 
6. 30.01.2019 +500,000     - 500,000 =    

             (,l=Kq 06) 
 

(B) 

 

mßÉfÊoh 05 - uQ,sl igyka fmd;a  
wu,a iafgda¾ia 

2019 ud¾;= udih i|yd ffoksl úl=Kqï fmd; $ c¾k,h 

Èkh 
bkafjdhsia 

wxl 
.kqfokqlre 

úYaf,aIKh 
jákdlu ^re'& úia;rh m%udKh tall 

ñ, ^re'& 
jákdlu 

02.03.19 217 iS$i ABC 
iud.u 

CR fmd;a 75 140 10,500  

  wvq l<d 10% jÜgï   (525) 9,975 

10.03.19 218 lu,a mekai,a 120 6 720 720 

25.03.19 219 fmf¾rd mEka  180 8 1,440 1,440 

31.03.19 úl=Kqï .sKqug udre l<d    12,135 

            (,l=Kq 04) 

             (uq¿ ,l=Kq 10) 
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wksjd¾h m%Yakhls' 
(,l=Kq 20) 

 

06 jk m%Yakh i|yd fhdað; W;a;r 

 
mßÉfÊoh 08 - uQ,H m%ldYkj, wruqKq iy .e<mqï iu. uQ,H m%ldYk ms<sfh, lsÍu 

 

MMK fÜ%v¾ia 
2019 ud¾;= 31 Èfkka wjika j¾Ih i|yd 

úia;S¾K wdodhï m%ldYkh 
(re. “000”) 

úl=Kqï    16,300 
úl=Kqï msßjeh      
wdrïNl f;d.h  1,100   
.ekqï   7,950   

  9,050   
wjidk f;d.h  (1,850)  (7,200) 
o< ,dNh    9,100 

     
mßmd,k úhoï     
úÿ,sh  2,078   
jegqma yd fõ;k  1,800   
ld¾hd, kv;a;= úhoï  895   

rlaIK jdßlh (fmrjev 3 )  75   

laIh - f.dvke.s,s  (fmrjev 2 ) 

laIh - ld¾hd, WmlrK  (fmrjev 2 ) 

 320 

480 

 (6,648) 

     
úlsKSfï yd fnodyeÍfï úhoï      
m%pdrKh  430   

laIh - fudag¾ r:  (fmrjev 2 )  700   

Kh.e;shka i|yd fjka lsÍu (fmrjev 5)   212  (1,342) 

     
uQ,H úhoï     
nexl= whsrd fmd,S  375  (375) 

     
j¾Ih i|yd Y=oaO ,dNh     1,735 

 

                 (,l=Kq 11) 
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MMK fÜ%v¾ia 
2019 ud¾;= 31 Èkg 

uQ,H ;;a;aj m%ldYkh 
(re. “000”) 

j;alï  msßjeh   iuqÉÑ; laIh  OdrK w.h 

 
cx.u fkdjk j;alï 

   (fmrjev1)   

     
foam<" msßh; yd WmlrK       
bvu   1,100    1,100 
f.dvke.s,s   3,200  1,520  1,680 
ld¾hd, WmlrK  2,400  1,675  725 

fudag¾ r: (fmrjev1)  4,600  1,975  2,625 

  11,300  5,170  6,130 

cx.u j;alï       
f;d.h    1,850   
fjf<| ,eìh hq;= oE  4,320     

(-) fnd,aKh i|yd fjka lsÍu  (432)  3,888   

l,ska f.jQ rlaIK jdßl (fmrjev 3 )    225  5,963 

  
uq¿ j;alï      12,093 

       
ysñlï iy j.lSï       
ysñlï        
2018 wfm%a,a 01 Èkg m%d.aOkh    5,600   
w;sf¾l m%d.aOkh    1,800   

(-) .eks,s     (2,200)   
j¾Ih i|yd ,dNh    1,735  6,935 

       
cx.u j.lSï       
f.úh hq;= úhoï    148   
fjf<| f.úh hq;= oE    3,120   
nexl= whsrdj    1,890  5,158 
uq¿ ysñlï iy j.lSï      12,093 

       

 
 

 

               (,l=Kq 09) 

                 (uq¿ ,l=Kq 20) 

 
 

 

 

 

 
 

 

 

 

 

 

 



 

       uQ,H .sKqïlrK uQ,slhka 

 
AA1/FAB 
 

fmrjev 1 - fudag¾ r:  

 
2019 ud¾;= 31 Èkg fYAIh 2,800 
tl;=ùï 1,800 
2019 ud¾;= 31 Èkg fYaIh 4,600 

 

fmrjev 2 – laIh iy iuqÉÑ; laIh 

 

foam<" msßh;" 
WmlrK 

msßjeh  wkqmd;h laIh  
iuqÉÑ; laIh 

1.4.2018 31.3.2019 
bvï  1,100  - - - 
f.dvke.s,s 3,200 10% 320 1,200 1,520 
ld¾hd, WmlrK 2,400 20% 480 1,195 1,675 
fudag¾ r: 2,800 25% 700 1,275 1,975 

   1,500  5,170 

 

fmrjev 3 - rlaIK jdßlh 

 

j¾Ih i|yd rlaIK jdßlh  =  300,000/12*3   = re.   75,000 

 

l,ska f.jQ uqo,   = 300,000 - 75,000 = re. 225,000 

 

 

fmrjev 4 - úÿ,sh úhoï 

 

j¾Ih i|yd úÿ,s úhou  =  1,930 + 148    = re.  2,078 

 

f.úh hq;= úhoï   = re. 148 

 

 

fmrjev 5  - wvudk Kh i|yd fjka lsÍu 

 
2018 wfm%a,a 01 Èkg fYaIh  =  220 
2019 ud¾;= 31 Èkg fjka lsÍu = 4,320*10% =  432 

j¾Ih i|yd W!K fjka lsÍu (432-220)  =  212 
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Notice:  

 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute part 

and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should not be 

construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental objective of 

this publication is to add completeness to its series of study texts, designs especially for the benefit of those 

students who are engaged in self-studies. These are intended to assist them with the exploration of the relevant 

subject matter and further enhance their understanding as well as stay relevant in the art of answering questions 

at examination level. 
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